X

3

>=Uv7 (Bl#)

E1HES RT-081

RN
135 I ey A R
Iy pays a //////4‘
30 13.2 //(7(7 S &S A e
5
TR B d
Y- J (AR)
o ABASA(3B) | #) EBASRONT
) 51UV (R B BE7 1.5~ 28 BOBER THINBTE /]
M
f@]
o 4 AS52% BKBE  s=11
SHLERD- 0K t=1.6 A B (A-ABEE)
BEh
7 b B \ 2
o] S Bl QRS - £ iR
— Sl Eorld o I3
. / t=16
33 = A
N S—UY 5 (3%)
O ‘ o=
© S-Uv7 (B) EZ i ] B 7
T2NS] ARSE () Sy CW WSSy
i = EHEINTIL (FR) i >W:
IS ji ;E q QQ/\’\ KRR KN,
z\ NET YN 1=2.3 <§ 4 Lg
< < A
BiE -2 (BI5EE) g < 30 %
£8 (38) < %K
< Y
< 4
> X
N22@ I-F-BFBHR S=1:2
50 #HERO = WHHE—20
100 150 (X WHEAO = Wi 480
AR (R8) 4/ \— fE# (Bl8)
\ I AGY)
78 GF— - BT YR -
R o =TT = S = =. 18R - BB {E& F A 25 _ —_ S
e Bt by TSR ASRTTY GF - e ) - ) A8 cmrmnqoIsTvORRSR
2 LAOKEHEN A I
W 1 m 2 #? Egggf A - g
Rl 2 5t * BTS2 A T T T = / i




